0o-2009 0000000000000 @DO210090)

1

m k 1 X(t)

ma+ F (t)=—mg(t)

F(t)
F(t)=k x(t)
g(t) 2
9(t) a(t)=a+g(t) 1) F
F(t)=—ma(t)
a(t) o)
x(t) =” a(t) - g(t) dtdt
@) F) @ X @) O—hilL4u e mEEL RN
(x()- a(t) kim P | s
(x(1), - a(t) =
x(t), - a(t)) = T —
 — R —
I —
R —
I —
I —
T N —
2005 3 .| 1EES
1 B == — g EpT
30 1 1
11 3
1 029-864-7681

- 417-



0o-209

[Gal]

0000000000000 @DO210090)

-418-

120[s] [Gal]
334Gal 400
1 11
100~102
1
-400
[Gal]
23Gal
[mm]
[Gal]
2Gal
2
[mm]
-0.15 -0.10 0.05 0.10 0.15
50
2
()
[N] [Gal]
100 ,f’H 100 ,an'"
,,e‘ff [cm] [cm]
2 3 -2 - 1 2 3
-~
1 - -100 - -100
()




